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14. According to M. Friedman, Quantity Theory of Money is the theory [V S i AL
f:

(1) Value of money

(2) Price determination [yl fﬂ\_ﬂ M\w Y fw

(3) Nominal income

(4) Demand for money # q/ oo O\Md ‘{w DQ

6 M

wmd o st pued A
gudakiv i L&ﬂ'ufﬁ}‘ prd !

17.who considered, transaction demand for money is influence by
rate of interest. = e R R L o
1. Keynes. % gl oy &A’J\a] h Ko 4 Do-k{l'”"“ o 91 W "
2. Tobhin. - Al - O [
3. Boumol,” LA~ ,
4. Samuelson.
L pNNe” I"‘ %

18.Under Keynes Psychological law of consumption the relationship
between consumption and income is
a. Linear and proportional
b. Nopginear and proportional
ear and non—proportional/

d. Nonlinear and non-proportional Both C &D

19.The formula for calculating super multiplier is
1. 11-MPC

2. 11-MPC - MPl W L
3. 1/1-MPC + MPI Pc’ /M

4. IMPC+MPS

20. Match the following : List — 1 List — 1l
a. Alfred Marshall i. M= PKT

b. Irving Fisher ii. M = PKY
. Robertson ili. N = PK
d. Keynes iv. MV = PT

Select the correct codes given bflow -
Codes:abecd
{21} iw i

(Z}iiivi“; C - R q/‘t.!

(3)i
{4) @i i v ii

21) IS ecurve shows that when income increases

A Interest rate must [all o restore equilibrium in the goods market n Lﬂ »

B Interest rate must fall to restore Eq brium in the asset market ,;

C Interest rate must rise to restore equilibriuvm in the asset market ) \

DD Interest rate must rise to restore equilibrium in the goods marly < c &'l oul-
~UA -

< s

22 The original Phillips curve:

1. was developed to show the trade-off between real GDP and
unemplayment,

2. has proven remarkably stable over the years.

3. was developed in the 1970s to explain simultaneous increases in
inflation and unemployment.

4. illustrates the short-run trade-off between inflation and unemplovment. — { e .J-\'l"')l-b
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unemployment.

. has proven remarkably stable over the years,

. was developed in the 1970s to explain simultaneous increases in
inflation and unemployment.

4. illustrates the short-run trade-off between inflation and unemployment.

(D

23.When only such disturbances as changes in technology/tastes or in public
spending and taxes can affect economic growth and employment, whereas
changes in the money supply would have no effect upon economic growth and
employment, we have...

a) the Keynesian assumption.

b) the classical dichotomy.

c) sticky prices.

d) the Taylor rule

25.Which of the following is a capital receipts in the Government budget ?
(1) Interest receipts on loans given by the Government to other parties.

(2) Dividend and profit of public enterprise: f
(3) Borrowings of the government from the’public. \/

(4) Selling of PSU’s to private. /

A. 1,2, and 3 are correct.

B. 2 and 3 are correct.

. _Iin:;J;;rccorrccl.\,‘ 3“ wwl f«‘
Fi W are correct. ' g o

' C}-UJJ" i hLllﬁ ORr WAMU
@‘mad ooet4 of th 3‘“"
2.Which of the following functi ill | ‘T\J
multiplier of value'5? e | w W Uf oA r‘ ’

# g &g ard & aRumreasy .
g 2 oo 0IV4 A

A.C=100+.0.2Y
B.C=120+.08Y

I
' ’ )
Al: feomn REL
C.5=-50+0.8Y @ O[‘hp{ @omu.ﬂh‘
D.5=-50+.0.2Y . " U
hoose the correct answer from the options given b (1 f)m p
E.Ogantd(:cmlv t A 4 O{b 2 bm ‘;th'

2. Aand D only
3. BandDonly
4

e -}
. Cand Donly @ D'g ll’l\lmmﬂ q—""l'w ?
hold] :n whlit
3.In an economy consumption function is C= 200 + 0.6Y and 1 m ¥ wu& )
investment is 1000 then find out equilibrium level of income..

Teh refeeeyT  @ud we C = 200 + 0.6Y & 301 Pdar 1000 2

P O Gt s
3000 g M,

2500

2000 po-< M’v\r,&l

¥ gl
Po hwa dapo¥’ PP/
oo el Sorn Cl"'hbmh

. Al {L -
4. Consider the following statements k] lom ~ ikos F
describing the relationship between marginal

R 7 B au;'w"f
propensity to consume (m.p.c) and the value @ O'ﬁo\‘ﬁ’ Y v L

of the multiplier : v 4
g, LA At £ Lo
(a) Higher the m.p.c lower is the value of ) ’—t"

multiplier } (R .
{b) Higher the m.p.c higher is the value of

v
multiplier 9«;0.1&'5‘)‘ G‘\r\!"\* fnk"b(_ﬁh'b“g

(c) If m.p.c=1, value of multiplier will be =

5 o ’
Which of the above statements is/are correct ? g)m.ﬂ”‘ 7 ﬁ.l {M h "MJ‘UA

(1) (b) alone
(2) (b) and (c)
(3) (c) alone

pwn




4. Consider the following statements
describing the relationship between marginal
propensity to consume (m.p.c) and the value
of the multiplier :

(a) Higher the m.p.c lower is the value of
f?nultiplier

{b) Higher the m.p.c higher is the value of
multiplier

(c) If m.p.c=1, value of multiplier will be o=
Which of the above statements is/are correct ?
(1) (b) alone

(2) (b) and (c)

(3) (c) alone

(4) (a) alone

5.As per IS-LM framework, an increase in government
expenditure will result in :

(1) increase in income and interest rate both.
(2) increase in income only
(3) decrease in investment and interest rate both.

(4) decrease in income and interest rate both

15-LMV BT & SR, T = | i &1 aftons gh:
(1) 3 o sure R AT A g

(2) Shaer 3 # giE 1

(3) Prder affe sara &2 gt A &t

(4) 34 3l =T & A |

6. Match the following lists :
List =1 List - 1l

A. Aggregate demand /el 1 (i) k= AY/AI

B. Acceleration Principle/ 0T H)C+1
C. Aggregate supply/del Gﬂﬁ[ﬁ'f {iii) @ = AAC
D. Investment Multiplier/ f2ar 1ores wjC+S

Select the correct answer from the codes given below -
Codes :

ABCD

(1) (i (i) (i) (iv)

(2) (i (iv) (i) (7)

(3) (i) (iv) (i) (iii)
LAY Fiih i) (i) fi/

7.Fiscal policy is perfectly effective
1. LM curve is perfectly elastic.
2. 1S curve is perfectly inelastic.

3. LM curve is perfectly inelastic.
4_|IS curve is more elastic

S |

| v 2N

A. 1,and 2.
B. 2and 3
C. 3and4
D. 1and 4 ‘

kl.!m vim Pﬁ\-}‘fl... N
@ Otiey v eenepld = woal o
Qasant 3 H['LWL
bseuipt 4 [rom intesialiond
f et B Fifudih
gwwmua.l LM':L&...



8.According to Keynes, investment deman
the following two factors ?

(T Rate of intereV

(b) Income of the consumer

\j()/Marginai efficiency of capi
(d) Marginal propensity to consu me-ﬁ
Answer from the codes below *
(1) (a) and (d)wK
(2) (b) and (d)c

@) and ()~

(4) (c) and (d)yc

9.When nominal GDP is ¥5,000 crores and GDP deflator is ¥ 400
crores, Real GDP s :

e AT Sl 25,000 @efs & 3R oS fEvele F400 His
2, af arafaes St 2:

1. 900 |
Mso/ s )

3. 1320 = \o

@l e

a. Alfred Marshall
b. Irving Fisher
c. Robertson
d. Keynes

Select the correct codes given below :
.Codes:abcd

(1)iviiiiii
2Tiiiviiii v

(3)iiiiiiiv

(4) iii i iv i

12.Arrange in ascending chronological ord
the following consumption hypotheses in
which they appeared in the economics
literature :

(1) Absolute income hypothesis = 134 “
p] Permanent income hypothesis == [ #§ Sq
(3) Life cycle hypothesis — ,86o
{4) Relative increase hypothesis  — 15._"‘

g

1— .rb'I ‘1,], LM)

=



1,4,3%0 Cows) v



